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Defence and Strategic Studies

Paper 11

T T AR 31eda=
PEELIECIN |

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. Wd U WrE.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

“One for All and All for One” is a
concept related to :

(A) Collective Defence

(B) Sustainable Development

(C) Collective Security

(D) Military Alliance

What is not the objective of NAM ?

(A) Maintaining peace

(B) Opposing colonialism and
imperialism

(C) Opposing the proliferation of
nuclear weapons

(D) Aligning with power bloc

Who said that “security is not
military hardware though it may
include it, security is not military
force though it may encompass it,
security is development and without
development, there is no security ?”

(A) Michal Louw

(B) K. Subramanyam
(C) Robert Mc Namara
(D) Winston Churchil

“ThEd wel et wetadt ww' @
Tefed HehouqT Il AR :

(A) I It

(B) y¥aq faewme

(C) ¥Hfesh gLam
(D) Hrfes HX&

SfeTaet Hosaesia JereTueh! hivdl T
TS S ?

(A) @ sTefed T

(B) %ﬁw o FrarSTeeTer foliy

(®) WC‘HTEW IS TE@e oy
(D) %Wgﬁwwsﬁawﬂmﬁmavﬁ

THI0T TEeel  GUET B TR BISaeR gl
T A o IS SToelt ol ot TSRl
RIT THd, GIam WU fashrE S
forerraferema geam w@a'' ?

(A) HIIHA A
(B) . gsHUIH

(C) Ve HerTar
(D) fordes ==l
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4.

Which one of the following is not
considered as an element or means

of India’s National Security ?

(A) Non-Government Organisations
(B) Para-Military Forces

(C) Military Aviation

(D) Integrated Social Setup
Panama Canal connects :

(A) Indian Ocean—Pacific Ocean
(B) Atlantic Sea—Indian Ocean
(C) Black Sea—Pacific Ocean

(D) Atlantic Sea—Pacific Ocean
Who is author of “The Revenge of
Geography” ?

(A) Robert Kaplan

(B) Fukuyama

(C) Samuel Huntington

(D) Martin Kaplan

Nationalism developed during the
late medieval period in Europe is

known as :

(A) Colonial Nationalism

(B) Politico-religious Nationalism
(C) Vociferous Nationalism

(D) Anti-Colonial Nationalism
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T Ueh! hITTdT S<eh & HRATe AT

T Fh TR EX0A STl ARl ?

(A) STRIEHRE o

(B) 1€ 9=

(C) Toh{l feordr=mer

(D) TehifcHeh HTHIfSTh  oereeq

TATHT Tl & WA TeTdshl  ShIomei
(Her) Sigen S ?

(A) &<t memrPR—ufawies TR
(B) sreclifesh Tq5—Tedt HermR

(C) Fledl HHE—UAHIT HEMTR

(D) Tedifceh THE—Ufahieh HE™NR
YT gt it SrsttaTdRr’’ a1 gaehr
JETdeh! IV @S STRd 2

(A) U FHYaH

(B) &A1

(C) ¥9a grTed

(D) Wféa wuem™

AT hlcseiST=A1 Jd Hedell JUTHE
St YreareTE wieHT foenfid sielt ot wieH
Weteden! T e aifad o ?
(A) FATIA AT TTH

(B) ulctifeshi-Tefifstera emfasm

(C) =ifepfrrgs™ Terfasm

(D) A<rnicltae Tefes™
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In which one of the following works
published in 1919, Mackinder
propounded  his of

‘Heartland’ ?
(A) Political Geography

(B) The Democratic Ideals and
Reality

theory

(C) Prisoners of Geography

(D) The Origin of First World War
Which school of thought argued that
“The State has a monopoly on
legitimate use of Physical Force” ?
(A) Realist school

(B) Copenhagen school

(C) Welsh school

(D) Aberystwyth school

What is neo-realism ?

(A) An attempt to ignore the
unpleasant realities of the
world

(B) An attempt to restate the basic
ideas of realism in a more
scientific form

(C) A claim that international
society is basically orderly and
peaceful

(D) A claim that individual human
nature is central to an under-
standing of international
relation

8.

10.
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Hehre A= HHYHE fagiar 1919 7
TTATAUh! IV JHHRE  FoRIETd
FOIT AT ?

(A) difadtena StstraTdt

(B) & SHBhelsh ARSIy 3t Rafeer
(C) fismd sif st

(D) & IRSA % HE dee an
10T AU THR * Sloare ST ho’
B qorEl foRifyeRr eg ?

(A) e

(B) ®IUTe™ TR

(C) o9 TR

(D) LAY Thad

EEREIENERIEI SR S I W

(A) A she aeqieadice gai el

Ul At ol

(B) IS geRMRA Jaryd A=t

Ul AESSId hvaTdl JIA

Y

(C) AT AN & Hafked o
RUGEIEREICS

(D) AU Hao FHASMEA ®0 ©
iR A THEER e

3R

E.



ik

11.

12.

13.

The Shaksgam Valley is a part of
Pakistan Occupied Kashmir and
ceded to China by Pakistan in the

year of ........ccccuuue. .
(A) 1961
(B) 1962
(C) 1963
(D) 1964

India started to build the facilities
N e, island of Mauritius for
the improvement in sea and air

transportation facilities.
(A) Flat

(B) Gunner

(C) Agalega

(D) Amber

Originally Sir Creek known

AS e .
(A) Shwet Ganga
(B) Ban Ganga

(C) Kajhar Creek

(D) Lakhpat Bandar

11.

12.

13.
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TERTTAS TR B IehedT< ShIRHIE HIT
YA @ WfRErA <ien vt oeff
B Hell ?

(A) 1961

(B) 1962

(C) 1963

(D) 1964
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What are the three elements of

deterrence ?
(A) Capabilities, Celerity and
Severity

(B)

©)

Certainty, Celerity and Severity

Certainty, Celerity and

Commitment
(D) Capabilities, Command and

Structure

Who among the following

propounded “Mandala Theory” of

interstate relations ?
(A) Shukracharya
(B) V. P. Singh

(C) Kautilya

(D) Vishwamitra

With whom of medieval period
General Mitchell opined about the
same role of airforce in future

war ?

(A) Battle Axes

(B) Armoured Knight
(C) Cross bows

(D) Long bows
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14. WIATIUeh] HIOA diF SEeh YT

15.

16.

fagrarft wefaa smea ?
(A) Hufaeers, feriel st fEedie
(B) @i, Afeidt st o=l

(C) weifel, Aferidl 3t wited=

(D) A, FHFE e Tehal
AT Faeade!  Aearnag=’
WeAeden! o Higen ?

(A) e

(B) = . f&g

(C) ifeea

(D) fawanfa=

T Hls@eid S fHee A
i 5T BaTEcar= 9qH fiehasa

SHIUEERIeN AT Hq o el old 2

(A) & AT
(B) IS 152
(C) H1E 9

(D) T &
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17. Match the Military Thinkers with | 17. &cd foaREaRi TTS/Sedn &=

their related field of war doctrines
on the basis of the following List I

and List II :

List I
(@) Sun Tzu
() Kautilya
(¢) Machiavelli
(d) Jomini

List II
(i) Mass Army
(@) Military Power
(iii) Mandala Theory
(iv) The Art of War
Codes :

(@ b)) (© @
A @) @) @) Go)
B) Gv) G @) @)
© @ O @) ()
D) GE) Gv) @ @)

fagrareh @
gt 1
(@) gGig
(b) Wifeea
(c) Wehagalt
(d) SufE
gt 11
() §Hg &
(i) TR QTR
(i) wea faga
(iv) FTel el
Hehdich :

(@ @) @ ()
(A G G Gi) (o)
B) Gv) @) G) O
C) @ @ @GP Go)

D) @) Gv) @ @)
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Name the book of Guilio Douhet

which was published in 1942 ?
(A) Impact of Air Power

(B) Command of the Air

(C) Air Command

(D) Victory Through Air Power

How many times Jawaharlal Nehru

was nominated for the Nobel Prize ?
(A) 10 times
(B) 11 times
(C) 12 times
(D) 13 times

Niccolo Machiavelli was born on 3rd

May 1469 in ............... city of Italy.
(A) Florence

(B) Rome

(C) Venice

(D) Naples

18.

19.

20.
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1942 TE3 TEfAs I A IV T&eh
YT oA 3l B 2

(A) SHUYR 3 TR T}

(B) hHFS 3% § TN
(C) W FHHATFS

(D) fewd ¢ TR dfa

e A SehTEIS! TRArd 9a9em
ot STaTelad T8® I A fahdl da
Aifae g A ?

(A) 10 e
(B) 11 ¥l
(C) 12 el
(D) 13 dal

TRl Hehogedt ar=n ST 3 H 1469 Jsit
| o A ) [ R F = |

(A) ®HARY
(B) ™
(C) fed

(D) T9eH
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21.

22.

The Strategic Offensive Reduction
Treaty (SORT) came into existence

in the year :

(A) 2004

(B) 2002

(C) 2006

(D) 2000

What is “Total War” ?

(A) An armed conflict between
politically organized groups
within a state

(B) A form of war conducted by
regular uniformed soldiers

using conventional weapons

(C) A war fought by irregular troops

using hit and run tactics

(D) A war involving all the aspects

of the society

JUN - 16225/II—A

N~

21. AT+ sithafges Re™ et (SORT)

IO FHG SAfIATd STet 2

(A) 2004

(B) 2002

(C) 2006

(D) 2000

22. HAFRY Jg WIS ?

(A) TSITAE SR AgsedT gEfeq

T T

(B) UG IS ara&d S ent=
Trafag ot o oo Afent

Hoedl gETE TRR 3Te

(C) =Ia &Y 3707 el a1 Fecar= STaelsl

Fed a9 dedd 95

(D) HHSIA Ta Sk THIERT/ T8

A IS

10

Sk
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Match the following :
Authors
(2) Ernest Gellner
(ii) Anthony D. Smith
(217) Benedict Anderson
(tv) M.S. Golwalkar
Books

(@) Imagined Communities
(b) Nations and Nationalism
(¢) We or Our Nationhood Defined
(d) The Ethnic Origin of Nations
Codes :

@ @) @) (o)
A @ © b @
B) (@ B) @ )
C) b)) @ @ (©
D b)) @ @ (©
Guerilla warfare is :
(1) An asymmetrical warfare
(@) A low intensity warfare

(zii) A weapon of the weak against
strong

(tv) A protracted armed struggle
(A) All are correct

(B) All are wrong

(C) Only (2), (ii) and (iti) are correct
(D) Only (i7), (i77) and (iv) are correct
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23. Siedl Seoal

[Sreeg
() 3= o
(@) oFu €1 fomy
({ti) Ifeae ST
(iv) TH.TH. TcTeTerehi
qehta A
(@) AN FHHIAS
(b) TS 0T Togerg
(c) RN MV HATH= GO T rrea
(d) THfHT= ek o
Hehdieh :

@ @) G Gv)
A @ © ) (@
B) @ b)) © @
©) ®) @ @ (©
D) ®) @ @ (©

24, THH JgugHd WS

() T AEHEIhe aRhH3R

(i) @ A SHIR

(i) T AU [k T faw sr=e wim
(iv) THRE A T

(A) T 999 s

(B) W A" Ih

(C) W (), (i1) 3T (ii) ST
(D) ®K (i1), (iii) S0 (jv) s

11
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26.

27.

28.

S

Which sentence is not true about
multiculturalism ?

(A) A descriptive and a normative
term

(B) It refers to cultural diversity

(C) It implies a positive endorsement
of communal diversity

(D) It refers to cultural and ethnic
assertion

What is “Collateral Damage” ?
(A) Intended damage

(B) Unintended damage

(C) Legitimate damage

(D) Wilful damage

Who among the following first used
the theory of “Just War” ?

(A) Cicero

(B) St. Augustine

(C) St. Thomas Aquinas

(D) Michael Walzer

First strike capability means :

(A) The capacity to use nuclear
missiles pre-emptively to
destroy the enemy missile

(B) The capacity to use nuclear
missiles aimed at the enemy’s

industrial centers

(C) The capacity to use nuclear
missiles aimed at enemy’s

population
(D) All of the above

25.

26.

27.

28.
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TEAATH FEhdIoRd HIvd fau ¥

TR ?

(A) JUHAHS AT A T

(B) wieHfasr fafau=n sy <@

(C) HvRIfae fafascs TR Tae
Hfed

(D) AiERfder oTfor aifdteh  yfqamgr=n
ey 3d

qifess o =ost w5 ?

(A) BqEs o

(B) fo-gq@eer famm

(C) hTISHTAT IS MIGT sheiell o

(D) TSHIER WIeA shoiell faamT

WAtdeh! HIvl gome ‘Sredar’’ o
fagram=t sTHeSTeTt el ?

(A) fafaa

(B) @a SAm=H

(C) ¥a ofFy Sfait g
(D) AFshd s

o STE Al WU

(A) T &YUTEA T HIATATATS!
YH-YI3 SMHAUI Hid ATl
STNELE 3TUeT MfUaeh &quET=T
IR e A IO T {0l

(B) I[N TN g @ed’ ! e

(D) I8 |d  gITIATET  GI&Id

FAATSE
i
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Match the following :
Authors
(2) Michael Walzer
(z1)) Mary Kaldor
(zz1) Martin Van Creveld
(tv) David Kilkullen
Books
(@) New Wars and Old Wars
(b) The Transformation of War
(¢) dJust and Unjust Wars
(d) The Accidental Guerrilla
Codes :
@) @) @) ()
A) © (@ ) (@)
B) @ © &) (@
©€) © @ ®b) (@
D) (@ b)) @ (©
The Treaty of Pelindaba declared :

(A) Africa to be a nuclear weapon

free zone

(B) Asia to be a nuclear weapon

free zone

(C) South America to be a nuclear

weapon free zone

(D) South Pacific to be a nuclear

weapon free zone

JUN - 16225/I1—A

29. Sl @

[reeg
(i) WEHA SRR
(i) F{ HAER
(ii7) HIEH =T hecs
(iv) Sfae facrhea™

q&ieh
(@ e 0 4 Ig

(b) &= aREad
(c) =g U F=AIhNh HTQ
(d) erufer i g6

T

@ @) Gu) Gv)
A) © (@ b)) (@
B) @ @ ©b) (@
©C © @ B (@
D) @ b)) @ (©

30. TefFeTe IR BT Yeictush! ShIomeh Heiferd

Ae ?

(A) STHIR STUaEHa &5 =it
(B) ST oTvaeqad & =ifvd
(C) <fequr sTftehT STuaesHeRt &5t =nferd
(D) Tfeqor IfRawieh TUeaa &t S

13
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31 ho coined the term MAD | 31. ‘&8M vwXad faw=@’ & Fhodn ol
(Mutually Assured Destruction) ? oeat ?
(A) Eisenhower (A) STHHTEER
(B) John Foster Dulles (B) S WX To™
(C) Donald Brennan (C) ST s
(D) John F. Kennedy (D) S Th. HIet
32. Who formulated India’s three stage | 32. RaTel 3ffUesh s i foermma <wroft
nuclear programme ? HeRfEd sar ?
(A) Homi Jehangir Bhabha (A) BT SRIMRK Wi
(B) C. V. Raman (B) . oft. v
(C) Anil Kakodkar (C) @A hIeRIgehT
(D) Homi Sethna (D) B H3T
33. Indo-US Civil Nuclear Cooperation | 33. WRd-3HReh 370 FIAX hegl &R
Agreement was signed in : HOIE AT ?
(A) 2007 (A) 2007
(B) 2005 (B) 2005
(C) 2008 (C) 2008
(D) 2010 (D) 2010
34. What is human security ? 34. el HET WS wE 7
(1) Freedom from fear. (1) AT el
(2) Freedom from want. (2) STUSTIRGA TR,
(A) Both (1) and (2) are correct (A) (1) nfor (2) & TR
(B) Both (1) and (2) are wrong (B) (1) =ivr (2) I g AR
(C) Only (1) is correct (C) ®H (1) SR 3®
(D) Only (2) is correct (D) ®H (2) I 3R
14
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35. Which statement is not correct about

“arms control” ?

(A) Halfway house between
armament and disarmament

(B) Aims at maintaining “Balance
of Power”

(C) Aims at providing “Collective
Security”

(D) Aims at strengthening
“Deterrence”

36. How many nuclear weapon states are
there under the NPT ?

(A) 5
(B) 8
© 9
(D) 10

37. The headquarters of Conference on
Disarment (CD) is located at :

(A) Paris

(B) Vienna
(C) Geneva
(D) New York

38. Which are the five Nuclear Weapon
States (NWS) according to the
NPT ?

(A) Israel, India, China, USA,
France

(B) USA, Russia, China, France,
UK

(C) Germany, Japan, China, USA,
UK

(D) Russia, USA, UK, Pakistan and
India

35.

36.

37.

38.
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Y= Esonered wio faum SeR
e ?

(A) ST ST 3R ST
aAefae

(B) YK FdeM WS HI0A I

(C) 9rfesh Glam UeH shivard 3fewe

(D) fedtH Hsigd FIvIm=T 389 3R

3TUE FEREGT I Eefterdehl fohdl
s gafeq smea 2

(A) 5

(B) 8

© 9

(D) 10

19 TSR oTTeTe BT |
T HEAAT DI IEHE 3R 2
(A) o

(B) fee-n

(C) fom=m

(D) —Ateh

3T JHRERT SR (NPT) THR hIve
I e AT oo =2 Wud
Ul oA ad ?

(A) 3&8d, WRd, [, SR, B
(B) smfewT, W, =F, W, o
(C) AT, ST, =4, eTafen, foed
(D) frn, SR, fored, qifens™, YrRd
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39.

40.

The International Organisation
that mediates on the issue of

disarmament is :

(A) North  Atlantic Treaty

Organisation
(B) League of Nations
(C) United Nations
(D) Atlantic Charter

Consider the following statements
regarding the Sea Dragon 22

exercise :

(1) It is designed to practice and
discuss Anti-Submarine warfare

tactics.

(2) It is a bilateral annual exercise

between India and the US.

Which of the statements given above

is/are correct ?
(A) (1) only
(B) (2) only
(C) Both (1) and (2)

(D) Neither (1) nor (2)

39.

40.

JUN - 16225/II—A
AW Foel fob & 4 3refieR o=
qHEEEd geee #d O HEed
(A) T seafesn fedt SAR=SRA

(B) @1 3% Avd

(C) FEee —¥rd
(D) 3Tedifesh =R

[T H-22 A1 FaEed 319 Jeay ol

TRl R0 Ial

N e

(1) R ggusdra Seuar e,

==t Snfor TE o

(2) 9Rg emfor el aren fgusfa

h{TYTd ATl
SHICTIRT BT fAHT /AR SR ?
(A) wH (1)
(B) W (2)
(C) Jr (1) =for (2)
(D) (1) 37for (2) =MURT HIOE! TR0
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Which

responsible for ensuring nuclear

international body is

safety systems ?

(A) United Nations Organisation
(UNO)

(B) NPT Organization (NPTO)

(C) International Atomic Energy
Agency (IAEA)

(D) BARC

Which conference was mandated by

the UN General Assembly (UNGA)

in order to strengthen South-South

Cooperation (SSC) and in which

country was it held ?

(A) UNGC—SSC/New York—USA

(B) SSC Conference/New Delhi-
India

(C) BAPA + 40/Argentina

(D) SSC Summit/Brazil

When and where was the first UN

Conference on Technical Cooperation
among developing countries held ?

(A) 01 to 10th January, 2000 in
New Delhi, India

(B) 31st December 1995 in New
York, USA

(C) 30th August to 12th Sep., 1978
in Buenos Aires, Argentina

(D) 01st October to 10th October
1990 in Beijing, China

41.

42.

43.

JUN - 16225/I1—A
oo GRaT Jomet r=a Heoarst
FIVRT SIS TET AR 3T ?
(A) ¥FF T & (UNO)

(B) T3 gee (NPTO)

(C) ST 310 St Lot (IAEA)
(D) S1.T.3m.4t. (BARC)

gferor-gferor wgswtd (SSC) A9gd
FHIOTES I T2 FeEed (UNGA)
vt Ao SAferd sl Bt ST o
TRV ST SN HI0AT A axt 2

(A) UNGC—SSC/=asm—USA

(B) SSC shhi/7al feoai-vra
(C) BAPA + 40/3RfS=r
(D) SSC Summit/sITsie

foeraTsiiad SeMHEA difsleh HgehrHioR
T e qfgedt qiReg el ST
%S Fedl ?

(A) 01 d 10 STHaRT, 2000 Fa foeett-
URd AY

31 fediar 1995, =g -4 79

30 MR d 12 ==X 1978
Buenos Aires, Argentina A¥

01 AR T 10 TR 1990 ST

(B)
()

D)

(F9) =9
[=]35[m]
o

E.
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China, Taiwan and Vietnam are in
dispute over the control of the

archipelago after a war which is
called :

(A) War of South China Sea
(B) Battle of the Paracel Islands
(C) US—Vietnam War

(D) War between North and South
Korea

Where is the Headquarters (HQ) of
United Nations Commissioner for
Refuges (UNHCR) situated ?

(A) New York, USA

(B) United Nations Building, USA
(C) Afghanistan

(D) Geneva

Who is the present (11th) UNHCR

Chief of (Commissioner) now and
when does his/her terms ended or
end ?

Ms. Hillary Clinton (31 March,
2024)
Mr. Fillipo Grandi (31 December,
2025)

Mr. Antonio Guterres (31 March,
2025)

Mr. Barrack Obama (31 March
2024)

will

(A)

(B)

©)

(D)

44.

45.

46.

JUN - 16225/II—A

=, qaH S STy Ao TS
HATHIAATT GrOFqETATeId=a]  ATQTAT

WATAYh! hEF Fagoad I ?

(A) IR ATk &Y TFar 9t

(B) ¥ 3 IRE <Y
(C) JUE-RITAH

(D) S e <feqor w43
(UNHCR) = H&Ad &S L ?

(A) =k, JuET

(B) W T HAwd TR
(C) ST

(D) for=an

Fed 119 UNHCR H&3 3T Hhi0

3Ted o701 = hTiehied el §Id 2
(A) foerl fofest (31 w4, 2024)

(B) frfad o<t (31 fedsr, 2025)
(C) 3f=ifsft X (31 #rd, 2025)

(D) 9 W& (31 1M, 2024)
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47. Which of the following describes

“Arab Spring” best ?
(A) Excessive rain in Arabia
(B) Spring season in Arab countries

(C) Pro-democracy movement in

West-Asia

(D) Anti-Climate Change initiatives

in Arab countries

48. The Five Central Asian Countries

were formerly part of :
(A) India

(B) China

(C) Afghanistan

(D) Soviet Union

49. Which is the EU agency that

protects migrants in distress at sea ?
(A) EU SEA ACT

(B) EU Border Management Act
(EUBMA)

(C) FRONTEX

(D) EBACGA

47.

48.

49.

JUN - 16225/I1—A

WrefieAden! v ‘e fom’’ 9 gatq
S[des 9 gaiq dui 3T ?

(A) SREEME Afagst

(B) 3T <RMHEA €A Hq,

(C) 9fy=y nfymEmde cehIma-gaeis
BB

(D) WS <YHE TaAHN &g folledt
IUHH

T HeA SRS Q¥, e hlorel Qe
qM Bd 2

(A) 9@

(B) =M

(C) TR

(D) wfgad e

TG STSehoTel LA T&T0T Ut
A il Heen w3 ?
(A) A gfa sl e

(B) FUftzA FFae HIH1 Herdd= SRl
(EUBMA)

(C) W= (FRONTEX)

(D) &St T (EBACGA)

19

Sk



i

50.

51.

52.

Which is the most comprehensive
international legialation to protect
migrant their
families ? When was it enacted and
cause in to force ?

(A) UN Treaty on Rights of Migrants
(UNTRM) (1 Jan., 2000)
International Convention on
the Protection of the rights of
all migrant workers and
members of their families
(ICRMW) (dJuly 01, 2003)
UNHCR Convention
December 1985)

Treaty of Migrant Workers
(TMW) (01 April, 2005)

Senkaku isalnds are under the valid

workers and

(B)

(C) (31

D)

control of ................
(A) Peoples Republic of China
(B) Republic of China

(C) Japan

(D) South Korea

Archeological excavations in west
coast revealed the remains of a
dry-dock estimated to be more than
4000 years old. What is the name
of that port ?

(A) Mumbai
(B) Paradeep
(C) Calicut
(D) Lothal

50.

51.

52.

JUN - 16225/II—A

TR ShTHTR ST AT e [T
TREIUTHIS Tald SATIeh STARAT IS
I & ? dl el AT el o hegl
AT ST ?

(A) TgF T2 URuS Teldia o
el (UNTRM) (1 ST, 2000)
" TIATARA R & T hedriie
TETAT=AT EFRI=AT GIETUEd
Sawrseg AfETE’" (01 9,
2003)

JUATTHIAR AfeewH (31 fedeR,
1985)

TIATTR HIFTR FHEET (01 T,
2005)

TehTep, o § STST=a gRfEerdid shromean
e se ?

(A) Uiew Rusclier 3ifw =

(B) Rusciier 3% <&

(C) ~UH

(D) <faror s

qfeed ferarareiial qUdcd 3@ Th
SIS TG 3TeRIS 4000 Soig SAfeeh
I ST SR SR, 1 Sed A
H M ?

(A) T8

(B) WM

(C) hreitera

(D) e

(B)

(©)

(D)
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55.

56.
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What is the name of project 17A
frigate warship of Indian Navy

commissioned by the President of
India in August 2023 ?

(A) INS Vikrant

(B) INS Parakram

(C) Vindhyagiri

(D) Samudra Shakti

‘Twang’ is a part of ................ .
(A) Sikkim

(B) Arunachal Pradesh

(C) Ladakh

(D) Mizoram

Who was the Defence Minister of
India during Indo-Pak War 1971 ?

(A) Baldev Singh

(B) Krish Menan

(C) Jagjivan Ram

(D) Morarji Desai

‘Malacca Strait’ is a strait between :
(A) Malaysia and Jawa

(B) Jawa and Sumatra

(C) Sumatra and Bali

(D) Malaysia and Sumatra

53.

54.

55.

56.

JUN - 16225/I1—A

17 ST 2023 HEA ARATAT IS
e Sotean YRd™ et T e
i1 THfdT el 1 Tehedr™ AE S
R ?

(A) 3. TA. TH. faw

(B) 314. TA. TH. THA
(C) faenfiy

(D) HHSIRI

TAM B ShOTET 9T 3 7

(A) foFn™

(B) STEUTEIGIURTT

(C) <<_E

D) fHeiRm

1971 =41 HRA-UTeh 5T dodd AT
T TA HI B 2

(A) weiea fHqm

(B) & 711

(C) SrSitad |

(D) AR <4

Hofdehl HHSYAT & & S o8
(A) weifern smfor e

(B) e sTfor AT

(C) gAm Sfur sreit

(D) wAferEn sfor A
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57. What is the line between Laksha-

dweep and Maldives ?
(A) 8° channel
(B) 9° channel
(C) 10° channel
(D) 11° channel
58. ‘Chaman’ crossing border is situated
in :
(A) Baloochistan, Pakistan
(B) FATA, Pakistan
(C) Tripura, India
(D) Rajasthan, India

57.

58.

JUN - 16225/II—A

3

(A) 8° =T

(B) 9° =

(C) 10° <=

(D) 11° =

TAA BRI | |/ AT ?
(A) S, difrsd™

(B) hIdl, Tifeh&d™

(C) =g, wd

(D) TSI, YA

59. Wakhan corridor is a narrow strip | 59. ‘TE&M’ ISR g1 = 3R
territory of ............... . TR 3.
(A) Afghanistan (A) SHITE
(B) Pakistan (B) Tifeh&d™
(C) China (C) =
(D) India (D) wRd
60. ‘Operation Grand Slam’ is associated | 60. SR U WA § HIven St Fafed
With oo : e ?
(A) 1947 War (A) 1947 dR
(B) 1962 War (B) 1962 dR
(C) 1965 War (C) 1965 aX
(D) 1971 War (D) 1971 aR
22
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61. What is right to self determination ?

(A) The right of autonomy of
nations to decide their own
domestic identities

(B) The right to intervene in
domestic affairs of nation

(C) The right to decide on the
autonomy of other nations

(D) The right to decide on the
territorial limits of the nations

62. Which among the following is not
a Non-Governmental Organisation
(NGO) ?

(A) Amnesty International

(B) World Health Organisation
(WHO)

(C) Human Rights Watch

(D) Greenpeace

63. Which among the following is not
a Gandhian method to settle
disputes ?

61.

62.

63.

JUN - 16225/I11—A
AU AR WIS R ?

(A) TSI = T Higfas 3w
ST TEERal ATYSRR

(B) TSIAT Sfdifad THEAMEN g

(C) SO USI=A1 ToaaaTed fHore Sogren

(D) T HQ%QIGW EDIHEIER]
g Svgrn S1fysr

WA IV Fored § for—/STaeahr
e 38 ?

(A) ST g=TeAd

(B) c€ oY SRS

(C) FHA TE2Y =i

(D) WG

TTeTadehl IV Tgd & TMefsti=

(95d) TEIMCIER ‘del erirarat’
e e ?

(A) Satyagraha (A) WPCI’E»'
(B) Picketing (B) dreherm
(C) Sabotage ©) Hfaﬁéjﬂ
(D) Boycott (D) Srashie
64. The central teaching of Gandhi’s 64. mﬁﬁﬂﬂﬁﬂﬁaﬁ@ww
throught is : !
(A) Spiritualism (A) IS faaR
(B) Classless society (B) EH w9
(C) Truth and non-violence (C) ¥ anfor sifew
(D) Brotherhood (D) dga
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65.

66.

67.

68.

What does the term ‘Peace’ means ?
(A) Ban of weapons of Mass

Destruction
(B)
©)

The Absence of conflict
The Absence of conflict plus the

existence of dialogue, under-

standing and cooperation
(D)
Who is the father of International

Military cooperation

Humanitarian Law ?

(A) Henry Durant

(B) William Durant

(C) Henry Kissinger

(D) Dean Acheson

Caste violence is an example of :
(A) Structural Violence

(B) Cultural Violence

(C) Physical Violence

(D) Personal Violence

Which among the following is

advocacy group ?

(A) Red Cross

(B) Doctors without Frontiers
(C) World Health Organisation

(D) Amnesty International

65.

66.

67.

68.

JUN - 16225/T1—A
MGG BT
(A) v=E fomer T TR a9
(B) §oH HEd ATAER
(C) T T oTdeRY, WA, Tk
0T FHS[AQun
(D) ool Heh

ST AT HIFCTAT STk hIvl
e ?

A) & gl=

(B) fafeem gi=

(C) & fordim

(D) EH Ry

ST fEaeRe § ST e

(A) TS e

(B) Wiepfaes feam=m

(C) TRifw fEamem

(D) Safader feamam

WEAAdeh! hIv TSARE™ T 3 ?
(A) T

(B) eld fagse wer

(C) SITfdeh STRFE Herel

(D) STAAET SeyHa

24



S

69. The ideas about reconciliation that
helped South Africans to deal with
apartheid’s powerful legacies was
given by :

(A) Archbishop Desmond Tutu
(B) Archbishop Thomas Becket
(C) Nelson Mandela

(D) Mahatma Gandhi

70. Identify the linkages between

environment and security :

(1) Environmental degradation
directly or collaterally inducing

conflict.

(2) Environmental degradation
exerting negative impacts on

human security.

(3) Ecological security, in which
human activities pose negative

impacts on the environment.
Choose the correct option :
(A) (1) and (2) only
(B) (1) and (3) only
(C) (2) only
D) (1), (2) and (3)

69.

70.

JUN - 16225/I1—A

zfequr et avideren faium
(FH2) wegd SAUvaTEel e
a1 o e i | PR

(A) IrefoRT TS T

(B) stifomd ofFq fohe

(C) ~oHd Heel

(D) wereA el

qHTEROT ST YR ATl Fole T oT
i@ :

(1) vfeRom=l '™ 9 fhar Fieeta
oS YA .
(2) THTEXOMET =BT HAE! GIEE

THRIHE RO Hl.

(3) TATEXOE GI& SAHLd AT
IERIETGIC IR PICEUIC T CAR R C]
gRomMH  FHam.

R I e
(A) e (1) 3o (2)
(B) ek (1) (0T (3)
(C) = (2)

D) (1), (2) 2for (3)
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71.

72.

73.

Which unit was constituted under
the ‘Disaster Management Act,

2005 ?

(A) National Disaster Management

Authority

(B) National Disaster Response

Force
(C) State Disaster Response Force
(D) All of the above

In 2006 National Disaster Response

Force was constituted with

Battalions.
(A) 8
B) 9
(C) 10
D) 11

Main cause of massive flood in

Uttarakhand in 2013 was ............ .
(A) Heavy Rain

(B) Cloudburst

(C) Snowfall

(D) Landslide

71.

72.

73.

JUN - 16225/II—A

SATUAT SFEYA 3Fe 2005 THR

ettt wiorear gerear= fafddt
HLOA ATAl 2

(A) e fegre das= STl
(B) e fegmex Rudrw wiE
(C) w2 fegret e »r

(D) =& He Heed

2006 HE T IR AfqHE Saird fehdt
AL FHGLY HI0A el ?
(A) 8

B) 9

(C) 10

(D) 11

2013 HE3 IS AY S HEHIHT HaTP
STl T T R § JerayH ] e
(A) J9E JHIUIG T4

(B) &g

(C) fewast

(D) ¥eIeTd
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4. Famous Tsunami of 2004 create by | 74, g} 2004 Hicwm TR uTes T greh
a major earthquake was caused by | ... T T e e
a rupture along the fault between
the .ooeeveeeeens plate and the Indian .
Plate (A) emfern
(A) Asia (B) &
(B) Burma
(C) #HeAfern
(C) Malaysia
(D) Sumatra D)
75. Which body system is most affected | 79- HIfere-19 Heb TR HIUCI AT ST
by COVID-19 ? THIOTA gt e ?
(A) Kidney A) feedt (gEfre)
(B) Heart (B) ' (&)
(C) Lung (C) & (|"RH)
(D) Skin (D) ¥R (=)
76. What is the motto of NDRF ? 76. TIELSTE. o AEAH BV I ?
(A) Apada Aur Sewa (A) 39T AR el
(B) Apada, Sewa, Sadaiv, Sarvatra (B) 2TUeT, 9dT, Tod, Had
(C) Sarvatra, Apada, Sewa (C) T, 3uer, e
(D) Sarvatra, Sadaiw, Sewa (D) T, |ed, Fell
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77. Where is Indian National Centre

for Ocean Information Services

(INCOIS), located ?
(A) New Delhi
(B) Mumbai
(C) Hyderabad
(D) Chennai
78. Who control NDRF in India ?
(A) Ministry of Defence
(B) Ministry of Home
(C) Ministry of Earth Science
(D) Ministry of Civil Aviation

79. Which disaster is most prominent in

India ?
(A) Earthquake
(B) Forest Fire
(C) Flood
(D) Water Pollution
80. When did Tsunami of 2004 took

place ?

(A) On 16 December
(B) On 26 December
(C) On 26 November
(D) On 26 October

77.

78.

79.

80.

JUN - 16225/T1—A
g2 TFA Tl B SN SR
TR’ I GEEE wEiad S
e ?

(A) g feeei

(B) T8
(C) TSR

(D) 3=

YRATde "9 fegmey fauta v ®
TEEA IV AT SR Shiaid
Igd ?

(A) TR HAAT

(B) & HATH

(C) 9=t fagm w=me™

(D) G fodH aRqeE Fo e

a (AW NN
HIATATd ATHT HHE sh U7 h[UId ?

(A) &9
(B) STl 31T (SorEn)

(C) HaX

(D) A=/ SA YGHY]

2004 AEY IA-FAH Hehe hroren feaett
M B ?

(A) 16 fe&eR

(B) 26 fedax

(C) 26 AreR

(D) 26 AR
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81. What is Marshall Plan ?

() It was proposed by George
Marshall, US Secretory of State
in 1947.

(z1) European nations will create
plan for their economic
reconstruction.

(ziz) US will provide economic aid for
reconstruction.

(A) All three are correct

(B) All three are wrong

(C) Only (i) and (ii) are correct
(D) Only (zi) and (iii) are correct

82. Match the items of List I with items
of List II among the following :

List I
(@) SAARC
b) WTO
(¢0 WORLD BANK
(d) Asian Productivity Organization
List II
(z) Tokyo
(i1) Kathmandu
(zi1) Geneva
(v) Washington
Codes :

(@ ) © (@@
(A) @) @) Gv) @
B) @) @ @ @)
©) Gv) @ Gi) @)
(D) None of the above

81.

82.

JUN - 16225/11—A
TRie =1 "N & ?
G) TS A AR W Ashed It
SHEISEEIRENIE] HiSQ’ﬂ»

() FUTTIA e TR GAesSiarans!
ST TR .

(i) sTafER JOfaaa weern smifed®
TAESSOAIS! 3Tffeh HEd hial.

(A) F8d fadl W SR ed

(B) = fa=l SW I e

(C) e (i) ST (i) SR 3T

(D) ®K (i) ST (iii) TSR 3ATE

d SISl Al Al ¢

gt 1

(@) 9

(b) SFfdeh SATUR TEeA sh
(c) Smifdess ook

(d) A WeFieE IR

e 11
(@) 2Rt

(i) HISHIE,
(i) TSTreat
(iv) ST
Hehdiah :

(@ b)) © (@
(A) @) @) Gv) @)
B) @) @) @ (v
©) ) & Q) @)
(D) =it IR A
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83.

84.

Who among the following is known
to have laid the economic foundation

of military power ?

(A) Adam Smith

(B) Abraham Lincoln
(C) Richard K. Ashley
(D) Henry Kissinger

With reference to ‘Financial Action
Task Force (FATF)Y, which of the

following statements is/are correct ?

(1) India is not a full member of

FATF but it has partial
membership status of this

organization.

(2) All permanent members of the
Security Council except China

are members of FATF.

Select the correct answer using the

codes given below :
(A) (1) only
(B) (2) only
(C) Both (1) and (2)

(D) Neither (1) nor (2)

83.

84.

JUN - 16225/T1—A
Weterdeh! iv ‘oTsndt geeat=n’’

amfdfer R e ?

(A) 3feH Ty

(B) ersiren feishe

() =2 =. sfe

(D) =1 FRfEm

TR 2Teh his TeHid Jeratuent
FUE fIEE SR 3R ?

(1) 9Rd & 9 ol 9 el

U 3AITF HeWod M AR

(2) & Hid hEmEEdl 9e8 =M

Tesdl FATF = 9S8 3%
SCCERICIRECEI
(A) (1) S
(B) (2) Wherd
(C) 3=t (1) =mfor (2)

(D) (1) 9o & & (2) YU AN
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86.

87.

88.
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Who coined the term ‘Soft Power’ ?
(A) Stephen Cohen

(B) Joseph Nye

(C) Barry Buzan

(D) Winston Churchill

According to SIPRI Year Book 2023

India remained main importer of
Major Arms during 2018-22 with a
Global Share of :

(A) 7 percent
(B) 11 percent
(C) 15 percent
(D) 20 percent

According to SIPRI Year book 2023,
which country is largest importer of
Major Arms during 2018-22 ?

(A) China

(B) Saudi Arabia

(C) India

(D) Pakistan

Fiscal Mobilisation refers to :
(A)
(B)

Mobilisation of human resources

Increase in working hours

85.

86.

87.

88.

JUN - 16225/II—A
e Gferk & G hiof dAee 2

(A) EHT HEH

(B) &% A

(C) & gz

(D) fows afda

fagt (SIPRI) $3R g% 2023 TR

2018-22 T HITESA WRA & IS
AT IR Teh HEwerqul Q31 Biel. AT
Ifyass aFeRl & oTe :

(A) 7%
B) 11%
(C) 15%
D) 20%

&t (SIPRI) 2023 aTfSeh STEATATIER

2018-22 IT HIAGSIA HIVIAT I IS
ARG hUAd Helld SEd ol ?

(A) =M

(B) Wit erfern

(C) 9Ra

D) urfrE™

fhashal HiseaSe qeletdeh] hromei
Hafya o ?

(A) AT FIEAEIRIET TIqHETT

(C) Mobilisation of financial ®B) S
resources ‘l I
(D) Mobilisation of Arms (C) snfefeh HeRTe e
Procurements (D) TS qu?l%ﬁ e
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89.

90.

91.

Which one of the following is a tool

of economic warfare ?

(A) Defence production

(B) Economic sanctions

(C) Arms trade

(D) Defence Diplomacy

Arrange the following theories in the

chronological order in which they
were conceptualised. Use the code
given below :

@)
(z1)) Theory of Absolute War

Strategy of Massive Retaliation

(zi1) Strategy of Flexible Response
(tv) Strategy of Indirect Approach
Codes :

(A) @), (o), (D), (Gv)

(B) @), (Gir), Gu), ()

(C) (D), (v), (D), (@)

D) @), Go), @), @)

“Improving the level or quality of
technology” is known as :

(A) Technology upgradation

(B) Technology acquisition

(C) Technology life cycle

(D) Transfer of technology

89.

90.

91.

JUN - 16225/II—A

WICAAUeh! IV 512k 3w JEaGaa
e R ?

(A) HEO 3ICRA

(B) sTfdfer fefy

(C) THE AR

(D) few=q fewims

el fagid < HTawAgER o=t
Hheqdl B N HEAN @l

() TSt sire Hfies ferfadem
(i) Tastd =M% ofadeyge ank

(iii) WS S Foedaa a5
(iv) RIS AF eree 3T
Hehdieh :

(A) @), Gi), (i), (iv)

B) Gi), (i), (), ()

(C) (iii), (iv), (@iD), ()

(D) @), (i), (), (i)

TUERE U aTE fhan TuraRHEd

GO 0T G TR A=
HegoaE Ad

(A) SHFTAST STIUSIA
(B) eHTCrSt 3feFelSigm
(C) QS TR® drdehdl
(D) TFEHL SATE Tl
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The possibility of which war has
enhanced the importance of the size
of territory as a source of National

Power ?

(A) Limited War

(B) Nuclear War

(C) Psychological War
(D) Conventional War

Blue Dot Network initiative has
been led by which of the following

countries ?

(A) US, Japan and Australia
(B) US, Japan and UK

(C) Japan, India and Australia
(D) China, US and Japan

For whom military strategy was an
integral part of science of polity and
he made no distinction amongst
Military techniques, statecraft and
national security ?

(A) For Kautilya

(B) For Clausewitz

(C) For W. Michel

(D) For Pandit Nehru
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When did Chandrayan 3 made the

soft landing on moon ?

(A) On 21st August 2023
(B) On 22nd August 2023
(C) On 23rd August 2023
(D) On 24th August 2023

Choose the appropriate code of

Assertion and Reason :

Assertion (A) : War now-a-days is
more influenced by the science of

economics than the art of strategy.

Reason (R) : War is not a heavy

consumer of economic resources.
Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are not correct
(C) (A) is correct, (R) is not correct
(D) (A) is not correct, (R) is correct

India conducted ASAT test in the

year :
(A) 2018
(B) 2019
(C) 2020
(D) 2021
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Where did the India—Sri Lanka joint
nilitary exercise, Mitrashakti 2023,
conclude, bringing together troops
from both countries Armes and Air

Force ?

(A) New Delhi

(B) Colombo

(C) Pune

(D) Chennai

The father of “Artificial Intelligence”
is :

(A) Alan Turing

(B) Charles Babbage
(C) John McCarthy
(D) Elon Musk

Which woman astronaut has set the
record for the longest single space

flight by a woman ?
(A) Peggy Whitson
(B) Jessica Meir

(C) Christina Koch

(D) Sunita Williams
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